Warm Up
An object is moving back and forth along the x-axis, starting at time t = 0. Its position
after t seconds is s(t) =t — 2 — 2cost.
(a) What is the acceleration of the object at time ¢7
(b) What is the first time at which the velocity will be zero?

(For full credit, you should have no trigonometric functlons in your answer; for example,
if your answer contains sin(7) you should know that this is \/— J)
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Review Sheet: Applications of
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Advanced Mathematics with Calculus 120

Applications of Derivatives


1.   Differentiate each of the following:
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2.  (a) Given that 
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     (b) For 
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3.  A ball is thrown into the air.  Its height, in metres, after t seconds is given by  
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     velocity of the ball the instant that it strikes the ground.
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4. Determine the coordinates of the point(s) on the curve 
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5.   Given 
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6.  The equation describing the location of a particle moving along a straight horizontal line is 
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     where s is measured in metres and t is measured in seconds.


    (a) What is the velocity of the particle when it has acceleration 12 m/s2?
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    (b) When is the particle moving to the left?
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    (c) How far does the particle travel during the interval 
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7.  Determine the point of intersection of the tangent lines drawn to the graph of 

[image: image14.wmf]x


x


x


f


+


=


2


)


(
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[8] 









_1205083390.unknown



_1205084732.unknown



_1205085200.unknown



_1267899657.unknown



_1205085517.unknown



_1205085156.unknown



_1205083639.unknown



_1205084667.unknown



_1205084006.unknown



_1205083495.unknown



_1205083020.unknown



_1205083311.unknown



_1205082941.unknown



_1192304705.unknown



SMART Notebook


Attachments

Q Worksheet.doc



Advanced Mathematics with Calculus 120

Applications of Derivatives


1.   Differentiate each of the following:








[8]

     (a) 

[image: image1.wmf](


)


(


)


3


2


2


cot


sec


cos


5


tan


x


x


x


y


+


-


=


 



(b) 

[image: image2.wmf](


)


x


x


x


x


f


csc


5


sin


+


=




2.  (a) Given that 

[image: image3.wmf](


)


(


)


2


3


2


-


-


=


x


x


f


, evaluate 

[image: image4.wmf](


)


2


f


¢


¢


¢


.







[4]

     (b) For 

[image: image5.wmf]xy


y


x


6


3


3


=


+


, find the equation of the tangent line at (3,3)





[5]

3.  A ball is thrown into the air.  Its height, in metres, after t seconds is given by  
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